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Note : Attempt all five questions. One question from each unit

is compulsory. All questions carry equal marks.

lHkh ik¡p iz'uksa ds mRrj nhft,A izR;sd bdkbZ ls ,d iz'u

djuk vfuok;Z gSA lHkh iz'uksa ds vad leku gSaA

Unit-I / bdkbZ&I

1. (a) Explain the rules of Personal, Real and Nominal

Accounts with suitable examples.
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mi;qDr mnkgj.k }kjk O;fDrxr] okLrfod vkSj ukeek=

[kkrs ds fu;eksa dh O;k[;k dhft,A

(b) What is CGST? Give an example.

CGST D;k gS\ ,d mnkgj.k nhft,A

OR/vFkok

Journalise the following transactions in the books of Mr.

Vivek and prepare Bank and Cash Account :

2021

Jan.1 Vivek started business with cash of 20,000.

Jan.2 He opened a current account with a bank for

 10,000.

Jan.3 Received a cheque from Ashok for 1,000

Jan.4 Deposited the cheque of Ashok into bank.

Jan.5 Paid Shyam 370 by cheque.

Jan.7 Received cheque from Karan and deposited it on

the same day 960.

Jan.10 Cash sale  500.

Jan.15 Withdrew cash from bank for office use 500.

Jan.28 Bank informed about the dishonour of the cheque

of Harish amounting to 1000.

Jan.31 Bank allowed interest  100, Bank charged

commission 200.
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fe- foosd dh cfg;ksa esa fuEufyf[kr ysu&nsu dk jkstukepk

ys[kk ,oa cSad rFkk jksdM+ [kkrs rS;kj dhft,%

2021

tu.1 foosd us 20,000 udn ls O;kikj 'kq: fd;kA

tu.2 mlus  10,000 ls cSad esa pkyw [kkrk [kksykA

tu.3 v'kksd ls 1,000 dk pSd izkIr gqvkA

tu.4 v'kksd ds pSd dks cSad esa tek fd;kA

tu.5 ';ke dks psd ls 370 Hkqxrku fd;kA

tu.7 dju ls 960 dk psd izkIr fd;k vkSj mlh fnu bls

cSad esa tek dj fn;kA

tu.10 uxn fcØh  500 A

tu.15 dk;kZy; ds [kpsZ ds fy,  500 udn cSad ls fudkykA

tu.28 cSad us gjh'k }kjk 1000 ds psd ds vizfrf"Br gksus dh

lwpuk nhA

tu.31 cSad us 100 C;kt fn;kA cSad us 200 deh'ku olwy

fd;kA

Unit-II / bdkbZ&II

[P.T.O.]
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2. What is a Suspense Account? How is it prepared?

fuyfEcr ;k mpUr [kkrk D;k gS\ ;g dSls cuk;k tkrk gS\
OR/vFkok

The following is the Trial Balance of Rajesh Bansal as at

31.03.2020 :

          

Particulars Dr. (Amount)
          ( )

Cr.(Amount)
       ( )

Cash in hand 18,000
Land and building 40,000
Plant and machinery 20,000
Debtors and creditors 45,000 60,000
Stock 01.04.2019 10,000
15% Investment 01.04.2019 20,000

Purchases and sales 95,000 200,000
Bills Receivable and Bills 
Payable

25,000 31,000

Wages 8,000
Salaries 16,000
Rent 15,000
Drawings 5,000
Carriage outward 6,000
Custom Duty on purchases 16,000

GST Payable 25,000
Fire Iusurance Premium 15,000
Advertisement 20,000
Provision for Bad Debts 2,000
Bad Debts 6,000
Interest 2,000
Furniture 20,000
Capital 80,000
Total 400,000 400,000
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Adjustment :

(i) Closing Stock at market price as at 31st March,

2020 was  60,000. However, its cost was 

75,000.

(ii) Bills Receivable includes a bill of  4,000 which

has become bad.

(iii) Sale also includes sale of furniture on 01.04.2018

for  10,000 (Book value  12,000).

(iv) Wages include  6,000 spent on erection of

machine on 01.04.2018.

(v) Depreciate machinery by 10%, furniture by 20%.

(vi) Appreciate building by 10%.

(vii) Bad Debts recovered  500 were taken as receipt

from debtors.

Prepare Trading, Profit and Loss Account for the year

ending 31st March, 2020 and a Balance Sheet as at that

date.

31.03.2020 dks jkts'k caly dk ryiV fuEufyf[kr gS %

[P.T.O.]
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fooj.k
Dr. (tek)
          ( )

Cr.(tek)
       ( )

jksdM+ 18,000

Hkwfe ,oa Hkou 40,000

IykaV ,oa ;a= 20,000

nsunkj ,oa ysunkj 45,000 60,000

jgfr;k 01.04.2019 10,000

15% fuos'k 01.04.2019 20,000

Ø; ,oa foØ; 95,000 200,000

izkI; fcy ,oa ns; fcy 25,000 31,000

etnwjh 8,000

osru 16,000

fdjk;k 15,000

vkgj.k 5,000

cká xkM+h HkkM+k 6,000

Ø; ij lhek 'kqYd 16,000

th-,l-Vh-nss; 25,000

vfXu chek izhfe;e 15,000

foKkiu 20,000

Mwcr _.k ds fy, izzko/kku 2,000

Mwcr _.k 6,000

C;kt 2,000

QuhZpj 20,000

iw¡th 80,000

;ksx 400,000 400,000
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lek;kstu%

(i) 31 ekpZ] 2020 dks vfUre jgfr;k dk ewY;  60,000

FkkA bldk ykxr ewY;  75,000 FkkA

(ii) izkI; fcy esa ,d   4,000 dk fcy 'kkfey gS tks Mwcr

gks x;k gSA

(iii) foØ; esa 01.04.2019 dks QuhZpj dk foØ; ds

 10,000 'kkfey gSaA (iqLrd ewY;  12,000)

(iv) etnwjh esa   6,000, 01.04.2019 dks e'khu yxkus ij

fd;k x;k O;; 'kkfey gSA

(v) e'khujh dks 10% ls vkSj QuhZpj dks 20% ls gkflr  z

dhft,A

(vi) Hkou dks  10% ls c<+k,a

(vii) Mwcr _.k   500 olwy gq, ftls nsunkjksa ls izkfIr eku

fy;k x;kA

31 ekpZ 2020 dks lekIr gksus okys o"kZ ds fy, O;kikfjd [kkrk]

ykHk&gkfu [kkrk rFkk fpV~Bk cukb,A

Unit-III / bdkbZ&III

3. What is the meaning of depreciation? Name the different

methods of providing for depreciation. Explain with

example any two of these methods.

[P.T.O.]
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gklz  dk D;k vk'k; gS\ gklz  dh O;oLFkk djus dh fofHkUu

i)fr;ksa ds uke nhft,A buesa ls fdUgha nks dk mnkgj.k lfgr

fooj.k nhft,A

OR/vFkok

The following is the Receipts and Payments Account of

Delhi Football Association for the year ending  31st March,

2020 :

Receipts and Payments Account :

Receipts Amount 
( )

Payments Amount 
( )

Donation 50,000 Pavilion offices  
(constructed)

40,000

Reserved fund (Life 
membership fee and 
entrance fee) received

4,000 Expenses in 
connection 
with matches

900

Furniture 2,100
Football match fund 8,000 Investment at cost 16,000
Revenue Receipts : Revenue Payments 

:
Subscription 5,200 Salaries 1,800
Locker's Rent 50 Wages 600
Interest on securities 240 Insurance 350
Sundries 350 Telephone 250

Electricity 110
Sundry expenses 210
Balance in hand 5,520

Total 67,840 67,840

Additional Information:

(i) Subscription outstanding for 2019-20 are 250.
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(ii) Salaries unpaid for 2019-20 are 170.

(iii) Wages unpaid for 2019-20 are  90.

(iv) Outstanding bill for sundry expenses are  400.

(v) Donation received has to be capitalised.

Prepare from the details given above,Income and

Expenditure Account for the year ended 31.03.2020 and

the Balance Sheet of the Association on 31.03.2020.

31 ekpZ] 2020 dks lekIr gksus okys o"kZ ds fy, fnYyh QqVckWy

,lksfl,'ku dk fuEufyf[kr vkxe ,oa Hkqxrku [kkrk gS %

vkxe ,oa Hkqxrku [kkrk

izkfIr;k¡ jde ¼ ½   Hkqxrku jde ¼ ½

nku 50,000

iSosfy;u vkWfQl 
¼fuekZ.k fd;k½ 40,000

laafpr dks"k ¼vkthou lnL;rk½ 
'kqYd ,oa izos'k 'kqYd dh izkfIr

4,000 eSp ls lacaf/kr O;; 900

QuhZpj 2,100

QqVckWy eSp dks"k 8,000 fofu;ksx ¼ykxr ij½ 16,000

vk;xr izzkfIr;k¡% vk;xr Hkqxrku %
pUnss 5,200 osru 1,800

ykWdj fdjk;k 50 etnwjh 600

izfrHkwfr;ksa ij C;kt 240 chek 350

fofo/k 350 VsyhQksu 250

fctyh 110

fofo/k O;; 210

gkFk esa 'ks"k 5,520

;ksx 67,840 67,840

[P.T.O.]
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vfrfjDr lwpuk,¡ %

(i) 2019-20 ds fy, pUns vnRr gSa   250

(ii) 2019-20 ds fy, osru vnRr gS  170

(iii) 2019-20 ds fy, etnwjh vnRr gS  90

(iv) fofo/k O;;ksa ds fy, cdk;k fcy  400 gSA

(v) izkIr nkuksa dk iw¡thdj.k fd;k tkuk gSA

mi;qZDr nRr fooj.kksa ls 31.03.2020 dks lekIr gksus okys o"kZ

ds fy, ,lksfl,'ku dk vk;&O;; [kkrk rFkk 31.03.2020 dks

fpV~Bk cukb,A

Unit-IV / bdkbZ&IV

4. Show the essential features of a Hire-Purchase

transaction. How can we distinguish between Hire-

Purchase System and Instalment Payment System?

fdjk;k&Ø; O;ogkj ds izeq[k y{k.k crkb,A fdjk;k&Ø; i)fr

vkSj fdLr Hkqxrku i)fr esa D;k varj gS\

OR/vFkok

On 1st April, 2012 a Printing Company purchased

machinery on the instalment payment system. The cash
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price of the machinery is  4,000.  800 are paid on

delivery and four annual instalments of  800 each are

paid every year on 31st March. In addition, interest is to

be charged at 6% per annum on yearly balance. Show

the necessary accounts in the books of the Printing

Company assuming that all payments were duly made.

1 vizSy] 2012 dks ,d fizafVax dEiuh us e'khujh fdLr Hkqxrku

i)fr ij Ø; dhA e'khu dk jksdM+ ewY;  4,000  gSA  800

lqiqnZxh ds le; pqdk fn, x, vkSj 'ks"k  800  okyh pkj okf"kZd

fdLrksa esa fn, x, tks fd izR;sd 31 ekpZ dks pqdk nh tkrh gSA

blds vfrfjDr okf"kZd 'ks"k ij 6% okf"kZd C;kt yxk;k tkrk gSA

vuqeku djrs gq, fd lHkh vko';d Hkqxrku dj fn, x, gSa]

fizafVax dEiuh dh iqLrdksa esa vko';d [kkrs cukb,A

Unit-V / bdkbZ&V

5. Vaibhav and Abhinav were partners in a firm. They shared

Profit and Loss in the ratio of 3:1. On 31st March, 2019

they decided to dissolve the firm. Firm's assets on 31st

March, 2019 was  5,57,000 (excluding cash). These

assets, when sold realised  6,90,000. Realisation

expenses amounted to  17,500. The following were the

liabilities of the firm : Creditors  2,24,000, Bank Loan 

85,400. Reserve  5,500. Capitals of Vaibhav and Abhinav

[P.T.O.]



KN-296/1000 (  12  )

were  2,00,000 and  20,000 respectively. Loan accounts

were: Vaibhav  2,00,000 and Abhinav  20,000. Close

the books of the firm.

oSHko rFkk vfHkuo ,d QeZ esa lk>snkj FksA os 3:1 ds vuqikr esa

ykHk&gkfu dk foHkktu djrs FksA mUgksaus 31 ekpZ] 2019 dks QeZ

dks fo?kfVr djus dk fu'p; fd;kA  31 ekpZ] 2019 dks QeZ

dh lEifRr;ka  5,57,000 dh FkhaA lEifRr;ksa ds ewY; esa jksdM+

dk ewY; 'kkfey ugha FkkA lEifRr;ksa dks cspus ls  6,90,000

olwy gq,A olwyh O;; 17,500 gq,A QeZ ds fuEu nkf;Ro Fks%

ysunkj   2,24,000,  cSad _.k   85,400,  dks"k  5,500 A

oSHko rFkk vfHkuo dh iw¡th Øe'k%  2,00,000 vkSj  20,000

FkhA _.k [kkrs bl izdkj Fks % oSHko  2,00,000 rFkk vfHkuo

 20,000, QeZ dh iqLrdksa dks cUn dhft,A

OR/vFkok

What accounting record is made in the books of the firm,

when a partnership firm is sold to a limited  company?

tc lk>snkjh QeZ fyfeVsM dEiuh dks csph tkrh gS] rc QeZ dh

iqLrdksa esa D;k ys[ks fd, tkrs gSa \

-----×-----


